U gamon T 200 S f4
A Q2w s A= (20)(S5C) = 100 54. 94
20

S

®
T e e . T o
p. . ﬁ ] AL
P,z 3x T = 1200
.2 -¢3 b o5 S
T T L03x 4 .e5(3x) 12¢0
€3%x 4 asx T 1260
3
ik T T200 >
A 1————200 4 C oQC
1%

L i m ___]
140 \"“ w Puo
i0 .
9 L x 2R
4o - 2w X 2(10)
‘ Y0 = 2w »120
20 = o ‘w=\o.-'\

T = J00 v .0
¢ : e 16
q00 * o (.0u) (1)

Joe = \,oe‘b

dgher) =pL4 %

(neares v

P> is. 11

\ @ S~ =

\

|

\bYr

\b' ) e¢ 27 600

(&) (1r000)  * m

—_

Q@

\G 1 et 06

z > Studenss

130

40 7- of

(-qoy (230)

Braw
P 220
o O
Ciw
Pra2w 3 24
2o = 2w A z(®i2w)
120 = 2w ¥ 1L X Qw
226 7 bW s \¥
204 = oW
w3 3¢ Ft
LE g rasy)
L e ¢
e
T o
b : .
Q= Lol ekeS
R

L+ RS

e

g3 =(L4s) * (243) +S

83 = 9*35

ys = 3S

LT o 41§ -1 21 &6m
(R-‘ 2+ % :@

vaegonlivy
@ e Uasen

\ Q3 Yarael

' @ r\vmxe._-.“_(—
I @ Seieien

Sy wotD

@ D2ag e aborT

@ kg Ted

@ ConrEound

')wm-»\‘..&

~3

"‘ﬂ.\w.\ wied



